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John and Jivanti together have 45 marbles. Both of them lost 5 marbles each,
and the product of the number of marbles they now have is 124. We would like
to find out how many marbles they had to start with.
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CHAPTER 4th - QUADRATIC EQUATIONS (fgard erefideor )
Example 2 St Fiforg fo orm fRaferfaa fgam adfieor &

Check whether the following are quadratic equations:
(i) (x-2)? +1=2x-3
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Check whether the following are quadratic equations:
() x(x+1)+8=(x+2)(x—2)
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CHAPTER 4t - QUADRATIC EQUATIONS (fged erefimeot )

Example3gumia€ﬁf€r@rwﬁw2x — 5x + 3 = 0 % Jol [T hitorg |
Find the roots of the equation 2x* — 5x + 3 = 0, by factonsatlon
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CHAPTER 4th - QUADRATIC EQUATIONS (fgard ereficeut )
Example 4 fgama ¥HIa0T 6x2 — x — 2 = oa;ngmﬁﬁlnl

Find the roots of the quadratic equation 6x* —x — 2 = 0.



MSC ONLINE CLASSES 24 CLASS 10™ MATHS DREAM 450+

CHAPTER 4t - QUADRATIC EQUATIONS (fged erefimeot )

Example 5 fgard @Hieor 3x2 — 2v/6x + 2 = 0 % el A hiforg |
Find the roots of the quadratic equation 3x2 — 2v/6x + 2 = 0
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Find the dimensions of the prayer hall whose
breadth is x metres and length is (2x + 1) metres.
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Find the discriminant of the quadratic equation 2x* —
4x + 3 = 0 and hence find the nature of its roots.
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A pole has to be erected at a point on the boundary of a circular
park of diameter 13 metres such that the difference of its
distances from two diametrically opposite gates A and B is 7

metres. Is it possible? If yes, at what distances from the two gates
should the pole be erected?




Example 9 THeRI0T 3x2 — 2x + = = 0 % fafreraert Firar RTSTQ 7R weil ot
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Find the discriminant of the equation 3x* — 2x + = = 0 and hence
find the nature of its roots. Find them, if they are real
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Check whether the following are quadratic equations:
(i) (x+1)?=2(x—3)
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Check whether the following are quadratic equations:
(i) x? — 2x = (-2)(3 — x)
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Check whether the following are quadratic equations:
i) (x—-2)(x+1)=x—-1(x+3)
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Check whether the following are quadratic equations:
(iv) (x —3)2x+ 1) = x(x + 5)
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Check whether the following are quadratic equations:
VM2x—1Dx-3)=x+5x—-1)



MSC ONLINE CLASSES 24 CLASS 10™ MATHS DREAM 450+

CHAPTER 4th - QUADRATIC EQUATIONS (fgard erefideor )
Question 1 fRufeifaa aiieron = Sitferg fo o 2 fgama afiexor g:

Check whether the following are quadratic equations:
(vi) x> +3x+ 1 = (x — 2)°
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Check whether the following are quadratic equations:
(vii) (x + 2)3 = 2x(x%? — 1)
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Question 1 fRufeifaa arfieron = Sitferg for o 3 fgama afieor g:

Check whether the following are quadratic equations:
(viii) x3 — 4x° —x+1 = (x — 2)3



Question 2 fafeifEa fRufaat i fgara fieor & & # fAefua Fifsu:
Represent the following situations in the form of quadratic equations:

(i) T SRR TEE T S 528 m? § | YIS i o1alrg (WX d

Al . ) ASEF T A TH
3Tk ¢ | gl S hl 7aTS 3R TS T LAt ¢ |
(i) The area of a rectangular plot is 528 m?. The length of the plot (in metres) is one
more than twice its breadth. We need to find the length and breadth of the plot.




Question 2 fAaferfec feufaat i fgara aeieor & w9 o fAefua Fifsm:

Represent the following situations in the form of quadratic equations:

(ii) SY SFHNTA YT YUITehi ST UM 306 § | §H JUTiehi ohl T T © |

(ii) The product of two consecutive positive integers is 306. We need to find the
integers.



Question 2 fafeifEa fRufaat i fgara Tefietor & a0 # fAefua Fifsmu:

Reprae;;n% the g%llﬁo“,illqrg& s;téa%ions in the f(;%n i-ii)f quadratic equaatiogssé a
(iii) Pl AT 26 T 2 | STeht 3T (Tl H) T O 31 |/ 3 99 91 360
SITQ | 8 T ohl ATHT ST T el ¢ |

(iii) Rohan’s mother is 26 years older than him. The product of their ages (in
years) 3 years from now will be 360. We would like to find Rohan’s present age.



Q"N
Mang®

Question 2 frafeifEa fRufaat i fgara Tefiertor & &0 # fAefua Fifsm:

Represent the followin siitagations in the gorm of uad;%ic equations: P
iv) Teh TSt 480 km THYA 91 9 9T %l =1et 8 km/h &9 gIal,

%agaﬁ@aﬁatraﬂﬁﬁ3 Y& 1Sk AT | §H CHTIST Shi ST T bt ¢ |

(iv) A train travels a distance of 480 km at a uniform speed. If the speed had been 8

km/h less, then it would have taken 3 hours more to cover the same distance. We

need to find the speed of the train.
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CHAPTER 4t - QUADRATIC EQUATIONS (fged erefimeot )

Question 1 frafefRaa fgama wteon & 7ot orree fafe @ Ja HifS:

Find the roots of the following quadratic equations by factorisation:
i)x*—-3x—-10=0
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CHAPTER 4th - QUADRATIC EQUATIONS (fgard eaitment )
Question 1 fAafeiRaa fgama wteon & Het Torrae fafe @ s HifS:

Find the roots of the following quadratic equations by factorisation:
(i) 2x* +x—-6=0
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CHAPTER 4t - QUADRATIC EQUATIONS (fgurd ereftmevur )
Question 1 frafeiiRaa fama Tieon & 7ot orrae fafe @ g Hifs:

Find the roots of the following quadratic equations by factorisation:
(iii) V2x% + 7x + 5V2 =0
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CHAPTER 4th - QUADRATIC EQUATIONS (fgard eaitment )
Question 1 fafeife fgeT THeRol & He orree fafer @ g Rifsie:

Find the roots of the following quadratic equations by factorisation:
(iv) 2x? —x+—— 0
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Question 1 fAafeRaa fgama wteon & Het Torrae fafe @ 3 HifS:

Find the roots of the following quadratic equations by factorisation:
(v) 100x%2 —20x+1=0



Question 2 ITTEIOT 1 H & TS GHET3N ol T hIfoTT |
Solve the problems given in Example 1.

ST 3R Sfterclt 3 UTH el 45 &l g | ’ﬁs-séﬁr@ﬁgmmwsﬁdﬁr

&, ST UFHE 124 ¢ | BH FTa AT @ o I+1eh I U # forami-fopae & & |
John and Jivanti together have 45 marbles. Both of them lost 5 marbles
each, and the product of the number of marbles they now have is 124. We
would like to find out how many marbles they had to start with.
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Find two numbers whose sum is 27 and product is 182.
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Find two consecutive positive integers, sum of whose squares is 365.



Question 5 T THHIT Bt it =TS SHh MRV 7 cm FH 2 1 AR FT 13 cm #1 QY <
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The altitude of a right triangle is 7 cm less than its base. If the hypotenuse is 13 cm,
find the other two sides.
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A cottage industry produces a certain number of pottery articles in a day. It was
observed on a particular day that the cost of production of each article (in rupees)
was 3 more than twice the number of articles produced on that day. If the total cost

of production on that day was X 90, find the number of articles produced and the
cost of each article.



Exercise 4.3

Question 1 fAaferfer fgaTd SOl o Tl <t vehfa
T HITSTT | Al Tl ot I &, Al 375 FI R
Find the nature of the roots of the following
quadratic equations. If the real roots exist, find
them:

(i)2x*-3x+5=0
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Question 1 fFafefeEs fgama G‘Fﬂwﬁ%?
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Find the nature of the roots of the following

quadratic equations. If the real roots exist,
find them:

(ii) 3x2 —4V3x +4 =0
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CHAPTER 4t - QUADRATIC EQUATIONS (fged erefimeot )

Question 1 fSafefe fguma wﬂwﬁ%?
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Find the nature of the roots of the following
quadratic equations. If the real roots exist,
find them:

(iii) 2x* —6x+3 =0
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CHAPTER 4t - QUADRATIC EQUATIONS (fged erefimeot )

Question 2 fFEfeRET T fgara e k
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Find the values of k for each of the following
quadratic equations, so that they have two
equal roots:

(i)2x*+kx+3=0
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Question 2 FEfeifET T fgard HieRor | k
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Find the values of k for each of the following

quadratic equations, so that they have two
equal roots:

(i1)) kx(x—2)+6=0



Question 3 =T Teh UHT 31 =kl ST ST
T ¢ Sreeh! o1, SieTe ag l a?R RRED
800 m? §1? AR e, A
HERICETIE

Is it possible to design a rectangular mango
grove whose length is twice its breadth, and
the area is 800 m?? If so, find its length and
breadth.




Question 4 1 A ffq Gwa g afe &f, @
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48 AT

Is the followmg situation possible? If so,

determine their present ages.

The sum of the ages of two friends is 20

years. Four years ago, the product of

their ages in years was 48.
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Question 5 T URATT 80 m TUT AW 400 m? & Teh UTeh i
T YA 27 IS T, Al SHeh! a1 7R ST [T hIIy |

Is it possible to design a rectangular park of perimeter 80 m
and area 400 m?? If so, find its length and breadth.
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	Slide 33:  Question 1 निम्नलिखित द्विघात समीकरणों के मूलों की प्रकृति ज्ञात कीजिए। यदि मूलों का अस्तित्व हो, तो उन्हें ज्ञात कीजिए: Find the nature of the roots of the following quadratic equations. If the real roots exist, find them: (i) bold 2 bold ital
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	Slide 37: Question 2 निम्नलिखित प्रत्येक द्विघात समीकरण में k का ऐसा मान ज्ञात कीजिए कि उसके दो बराबर मूल हों: Find the values of k for each of the following quadratic equations, so that they have two equal roots: (ii) bold italic k bold italic x open par
	Slide 38: Question 3 क्या एक ऐसी आम की बगिया बनाना संभव है जिसकी लंबाई, चौड़ाई की दुगुनी हो और उसका क्षेत्रफल 800 m² हो? यदि हाँ, तो उसकी लंबाई और चौड़ाई ज्ञात कीजिए। Is it possible to design a rectangular mango grove whose length is twice its breadth, an
	Slide 39: Question 4 क्या निम्न स्थिति संभव है? यदि हाँ, तो उनकी वर्तमान आयु ज्ञात कीजिए। दो मित्रों की आयु का योग 20 वर्ष है। चार वर्ष पूर्व उनकी आयु (वर्षों में) का गुणनफल 48 था। Is the following situation possible? If so, determine their present ages. 
	Slide 40: Question 5 क्या परिमाप 80 m तथा क्षेत्रफल 400 m² के एक पार्क को बनाना संभव है? यदि हाँ, तो उसकी लंबाई और चौड़ाई ज्ञात कीजिए। Is it possible to design a rectangular park of perimeter 80 m and area 400 m²? If so, find its length and breadth.   

